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SECTION A (25 MARKS)
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At maximum heigh V =0

Displacement = Area under arﬂg

V2, Oadh

© = oA \N,%f

(4 X O/W,L@

The spiri N.u.wnﬁ latent heat of vapourisation from the palm to

s causes cooling in the palm b it oqwﬁo_uﬂam

o<mﬁo§

8 R

E&Wo@%

?5 1 E
m\%@%
ﬁgmgm oﬁE&S

the object. \. ‘r@\

3__ %% e / E =

|| the weightof

PDF Compressor Free Version

e %? @&fd

Scanned by TapScanner



R
PDF Compressor Free Version

SIQ(."I'IW B (55 MARKS) )
_, : : AL e i g 'FP LS
14. (a) | (1) - Weight of the buckc[/?;i; 0@ I -.",\ﬂ?,-a " Jf\ ( L3V (T TS
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(i) Part of the centripetal force required is provided by the weighy, the: =

act in the same direction therefore the tension will be less. . G,,J»H J‘;f{; E’_ﬁ% f“f‘r Co | *‘ IF F'*" Qeph
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(1) - Water isuikel)\tﬂ pour out. \/ J > — S :
- Ata certain minimum speed, th cent;ipletal force is less than what is
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(@) | (@) &Ipnn Sucking)t]iil’ig_u\i_(i flows in the delivery tube but stopg-\y/ 2

/ Eeleasing because the sucking force is withdrawn—)

is above the liquid level. . e
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(b) | Upon Squeezing the sides of the bottle, the pressure insid /
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16. (@) | (1) tD By measuring the temperature of w% the temperature of air is | 2

equal to that of wate{/

#)\.) By measuring the length of the air column. Volume of air is

3 A AN M) ) ; 5
proportional @\W since the cross-sectional area is uniform.

(1) Ke;’-ping the tubgmgnd open throughout the experiment.
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18. (a) | Matter is anything that occu ies space and has mass.
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(b) ~ As the temperature increases, the molecules of the liquid

energy, “Bfss increases the speed of motion of the molecule

ence\they
move faster, travel further/and increase in intermolecular dj cey causing \l

Increase in vnlum% \
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(¢) | 1) To magni e pollen grains for better visibility.

(ii) They are observed to move in random motion. l
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(115 'I'h_é-y are be hit by the|invisible\water molecules \FihiCh are 1n

constant random motion hence also move in random motion. ‘
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